Vraag Antwoord

Transition

8 maximumscore 4
+ Ergeldt (16)" +(h-r)’ =
Hieruit volgt %bz +h?=2hr+r* =7
»  Dit geeft 1%+ =2hr
172, 72

4

* Hieruit volgt = (dus formule 1 is juist)

9 maximumscore 3
11.2 2

© (L63=4—— dus) 21,63=1b7 +/

o b>=13,04h—4h*, dus b=+/13,04h—4h>

*  Hieruit volgt 5=2+3,26h—h* (dus p=2 en ¢=3,26)

1p*+ 0’ L2 s
. (1,63:T,dus) 2h-1,63=1b"+h

e 02 =4-(21,63-47), dus b:\/4.(2h-1,63—h2)

«  Hieruit volgt b=2+/3,26h—h> (dus p=2 en ¢=3,26)

Lp2 4 p?

o (r=%—— dus) 2hr=1b"+1’
2h

« b’ =8hr—4h*, dus b=~8hr—4h*

. Hieruit volgt b=2v2rh—h>, dus b=2+/3,26h—h> (dus p=2 en

§=3,26)

HA-1025-a-23-1-c 9

Scores

lees verder » »»



